Chapter 12 homework #5:  Stoichiometry and solutions
Directions: Write the BCE and calculate the asked for quantity.  MUST SHOW ALL WORK!!!
1. 10.0 mL of 2.0M  lead (II) nitrate is combined with excess amount of potassium iodide producing how many moles of lead (II) iodide and how many moles of potassium nitrate?

2. 25.0 mL of 1.5M calcium acetate is combined with excess sodium carbonate producing how many grams of calcium carbonate? (other product formed: sodium acetate)

3. 32.0 mL of 2.3M sodium phosphate and excess iron (II) acetate combine to form how many grams of iron (II) phosphate? (plus another product, which you don’t have to calculate amount) 

4. 75.0 mL of 1.0 x 10-2M copper (II) chlorate and  excess ammonium sulfate produce how many grams of each product?

5. 50.0 mL of 2.0M silver nitrate and 50.0 mL of 2.0M lithium chloride combine to form silver chloride and lithium nitrate.  Which reactant is the limiting reactant?  How many grams of silver chloride will be produced?
